

STANDARD ENGINE INVENTORY ITEMS

ITEM	Quantity	Estimated Cost Each	Total Cost
Headsets (4), intercom and 800 radio	1	\$20,000.00	\$20,000.00
Mobil BK Radio	1	\$5,000.00	\$5,000.00
Motorola APX Next XE Radios	3	\$8,000.00	\$24,000.00
Motorola Lapel Mics	3	\$65.00	\$195.00
Bendix King BKR 5000 Radios	3	\$1,800.00	\$5,400.00
Bendix King Lapel Mics	3	\$65.00	\$195.00
Cradelpoint Modem	1	\$1,200.00	\$1,200.00
iPad	1	\$1,200.00	\$1,200.00
iPad Case and Mount	1	\$300.00	\$300.00
Radio Harness	3	\$60.00	\$180.00
Knox box keys	1	\$0.00	\$0.00
Colton keys	1	\$0.00	\$0.00
Thomas Guides: Los Angeles, Orange Cou	1	\$50.00	\$50.00
City of Rialto Map book	1	\$50.00	\$50.00
Accountability Board	1	\$25.00	\$25.00
RIC Work board	1	\$25.00	\$25.00
Garage Door opener	1	\$20.00	\$20.00
Gate Opener	1	\$20.00	\$20.00
Spanner Wrench	2	\$100.00	\$200.00
Wheel Chock	1	\$20.00	\$20.00
¾" P Line	2	\$90.00	\$180.00
Master Stream Base	1	\$3,400.00	\$3,400.00
Hydrant Wrench	2	\$50.00	\$100.00
Rubber Mallet	2	\$30.00	\$60.00
Wildland Hose Clamp	2	\$200.00	\$400.00
Smooth Bore Tips – 1", 1.125", 1.25"	1	\$470.00	\$470.00
4" to (2) 2 ½" Wye	1	\$1,830.00	\$1,830.00
2 ½" to (2) 2 ½" Wye	1	\$1,505.00	\$1,505.00
2 ½" to (2) 1 ½" Wye	1	\$510.00	\$510.00

4" Double Female	1	\$135.00	\$135.00
4" Double Male	1	\$120.00	\$120.00
2 ½" Double Female	2	\$48.00	\$96.00
2 ½" Double Male	2	\$32.00	\$64.00
2 ½" to 1 ½" Reducer	4	\$30.00	\$120.00
1 ½" Double Male	1	\$28.00	\$28.00
1 ½" Double Female	1	\$36.00	\$36.00
2 ½" to 4" Increaser	1	\$75.00	\$75.00
Scoop Shovel	1	\$30.00	\$30.00
Broom	1	\$42.00	\$42.00
Spade Shovel	1	\$35.00	\$35.00
Flat Head Shovel	1	\$35.00	\$35.00
Dewalt Tri-Pod Light	1	\$250.00	\$250.00
Big EZ Lock Out Kit	1	\$80.00	\$80.00
Salvage Cover Bag	1	\$60.00	\$60.00
Salvage Covers	4	\$20.00	\$80.00
Bee Hoods	3	\$25.00	\$75.00
Dewalt Sawzall	1	\$140.00	\$140.00
Ric Bag	1	\$250.00	\$250.00
Drop Bag/Utility Rope	1	\$50.00	\$50.00
Caution Tape	1	\$10.00	\$10.00
Duct Tape	1	\$10.00	\$10.00
Smoke Detectors	1	\$20.00	\$20.00
Toolbox	1	\$40.00	\$40.00
Metal Wrench Rack	1	\$10.00	\$10.00
4 Piece Plier Set	1	\$20.00	\$20.00
Torx Set Folding Tamperproof	1	\$10.00	\$10.00
Screwdriver Set	1	\$20.00	\$20.00
Wrench Set	1	\$40.00	\$40.00
Electrical Tape	1	\$5.00	\$5.00
Pipe Wrench	1	\$20.00	\$20.00
Claw Hammer 20oz	1	\$20.00	\$20.00
Crescent Wrench	1	\$55.00	\$55.00

Utility Knife	1	\$8.00	\$8.00
Measuring Tape	1	\$20.00	\$20.00
Locking Plier Set	1	\$24.00	\$24.00
Allen Key Set	1	\$30.00	\$30.00
Voltage Tester	1	\$17.00	\$17.00
Dewalt Socket Set	1	\$38.00	\$38.00
Hack Saw	1	\$42.00	\$42.00
Cones	5	\$22.00	\$110.00
2 ½ gallon Pressurized Water Extinguishe	1	\$170.00	\$170.00
ABC Extinguisher 10 lbs 4A, 60 BC	1	\$98.00	\$98.00
Batteries- AA, AAA, C, D	1	\$50.00	\$50.00
Pick Head Axe	1	\$250.00	\$250.00
Sledgehammer	1	\$50.00	\$50.00
Bolt Cutters	1	\$87.00	\$87.00
Irons-Flat Head Axe and Halogen	1	\$400.00	\$400.00
K-Tool	1	\$131.00	\$131.00
Ice Chest	1	\$100.00	\$100.00
Absorb	1	\$40.00	\$40.00
Rotary Saw	1	\$1,100.00	\$1,100.00
Chainsaw	1	\$1,200.00	\$1,200.00
Premix	1	\$31.00	\$31.00
Bar Oil	1	\$14.00	\$14.00
Funnel	1	\$5.00	\$5.00
Spare Chainsaw Chains	1	\$40.00	\$40.00
Spare Rotary Saw Blades	1	\$170.00	\$170.00
Manual Discharge Tool	1	\$0.00	\$0.00
Straight Fuel	1	\$30.00	\$30.00
Tarp	1	\$25.00	\$25.00
Amkus Combi Tool	1	\$10,000.00	\$10,000.00
SCBA Pack	4	\$4,500.00	\$18,000.00
SCBA Bottles	8	\$1,600.00	\$12,800.00
Orange Drug Box	1	\$200.00	\$200.00
Blue Airway Bag	1	\$100.00	\$100.00

Orange O2 Bag	1	\$50.00	\$50.00
Zoll Monitor	1	\$50,000.00	\$50,000.00
Black Spare Med Box	1	\$200.00	\$200.00
Trauma Bag	1	\$50.00	\$50.00
AutoPulse	1	\$14,000.00	\$14,000.00
Suction	1	\$600.00	\$600.00
C-Spine	1	\$100.00	\$100.00
KED	1	\$150.00	\$150.00
Sager	1	\$450.00	\$450.00
Spare O2	1	\$122.00	\$122.00
OB Kits	1	\$25.00	\$25.00
Infectious Control Kits (3)	1	\$25.00	\$25.00
Sani Wipes	1	\$30.00	\$30.00
Spare ECG Patches	1	\$105.00	\$105.00
Mega Mover	1	\$30.00	\$30.00
Cardboard Splints	2	\$100.00	\$200.00
Master Stream Tips- 1 ¼", 1 1/8", 1¾", 2"	1	\$1,000.00	\$1,000.00
SM 1,000	1	\$1,250.00	\$1,250.00
Wildland Spade Shovel	1	\$60.00	\$60.00
Pulaski	1	\$45.00	\$45.00
McLeod	1	\$58.00	\$58.00
6' Pike Pole	1	\$50.00	\$50.00
Drywall Hook	1	\$100.00	\$100.00
12' Pike Pole	1	\$78.00	\$78.00
6' Rubbish Hook	1	\$128.00	\$128.00
6' Gator Hook	1	\$140.00	\$140.00
24' Extension Ladder	1	\$675.00	\$675.00
14' Roof Ladder	1	\$320.00	\$320.00
10' Attic Ladder	1	\$230.00	\$230.00
1,000 4" Supply Hose (50' section)	20	\$250.00	\$5,000.00
15' 4" Supply Hose (2)	2	\$100.00	\$200.00
1,400' 2 ½" Hose (50' sections)	28	\$180.00	\$5,040.00
1,000' 1 ¾" Hose (50' sections)	20	\$120.00	\$2,400.00

600' 1 ½" Single Jacket Hose (100')	6	\$120.00	\$720.00
Water "T"	3	\$60.00	\$180.00
70-200 GPM Nozzle (5-6)	6	\$1,225.00	\$7,350.00
70-200 GPM no pistol grip (2)	2	\$1,225.00	\$2,450.00
95-300 GPM Nozzle	1	\$1,015.00	\$1,015.00
30-125 Quadra Cup Foam Nozzle	1	\$885.00	\$885.00
95-300 GPM Nozzle with Playpipe	1	\$2,400.00	\$2,400.00
4" Hydrant Pack	1	\$60.00	\$60.00
2 ½" Hydrant Pack	1	\$60.00	\$60.00
Hose Pack (2)	2	\$100.00	\$200.00
CGI	1	\$800.00	\$800.00
TIC	1	\$10,000.00	\$10,000.00
Mounting Hardware and Brackets	1	\$2,500.00	\$2,500.00
Contingency	1	\$2,000.00	\$2,000.00
TOTAL			\$227,527.00
10% increase in annual item cost			\$22,752.70
TOTAL WITH ANNUAL INCREASE			\$250,279.70